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Answer all questions. Each question carfies twemarks( \

Vo Qs G
1. Define slack variables. -\’
N \
2. Explain degeneracy. . VL

3. Explain the relationsﬁ?ihg;w@é‘ﬁ‘ primal’a "ﬁrts, duel.
4. Explain transpoﬁéffdr}gfj&?i}"i?érg;,{fu:%fly, - ,, ;
5. What is ifffeger ptogramiing problem ?
4 6. List basic elements of a DP model.
| 7. What is PERT ?

8. Define float and free float.

9. Explain ‘birth and death’ process.

10. What is reneging in queuing theory ?
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SECTION — B

Answer all questions. Each question carries eight marks.

11. a) Solve by simplex method &
Minimise z = 3x4 + 2x, 3 @Qﬁ
Subject to 2x, + x, = 24 o\}

x1 + xz =>4 O
Xy, Xo = 0. o@ £
OR O

b) Solve the followmg A
Minimise 2z = 2 G*
Subject to ﬁ@ 6405 \

% : > 0
y:@, o,bé’ 0"0 : .
12. a) Solve th f '-;f ple rgethod
Mlnmﬁe w&%p 2%y é&%’ ,
/chgct t@j‘@z+ 2x; =8 &
\b ?‘ Xy *)é(z +X3 =2

O

% . ig"}
{} Xqs Xp, X5 = 0.
OR
b) Write the algorithm for Vogal's Approximation method.

13. a) Solve the IPP
Maximise z = 5x, + 4%,
Subjecttox; +x, < 5
10x, + 6x, < 45
X4, Xo = 0 and integer.
OR
b) What is dynamic programming problem ? Explain its characteristics.
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14. a) Jobco uses a single machine to process three jobs. Both the processing
time and the due date (in days) for each job are given in the following table.
The due dates are measured from zero, the assumed start time of the first

job.
Job  Processing time (day) Due date (day)  Late penaity($/day)
1 5 25 oD 19
\¥
2 20 22 \ ) 12
3 15 35 34

Determine the job sequence that minimises thelate penalty for processing
all three jobs. s\ N

OR ' \ ‘ \Y

I & N )\

b) A plant manager has four s@%rdiﬁne“s, apg?ﬁur tasks to be performed.
The subordinates differiﬁf%ﬁiciejﬁgy and the tasks’differ in their intrinsic
difficulty. This estimate 0f the timés each man Would take to perform each
task is given in the effeCtivengss matrix below!

| g |V
A | 16 | 52\ 34NI224yY 475"
B | 26 | 58 ENT ML €2
c | 78 J\8B8 N ‘g Vs
D [ 38T 52\5_—‘ 20 ®
How shouid the tasks bé@iocated, one to a man, so as to minimize the total
man.hgdurs ?

15. a) @cuss about queueing model and its characteristics.
OR
b) Explain the pure death model in queuing theory.




